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Graph the functin in a viewing window that shets all of its x-intercepts

and approximate al of its zeros.

A) fix)=x'—3x*— 18X 40 B) fix)=-x*+4x> - 5x> + 2x

Using only algebra, find a cubic function with the given zeros.
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Using the IVT to (
determine of a
function has a zero
on a given interval

If f{a) <0 and fib) > 0 we
can conclude there is at least
one zero in the interval [a,b]

Or

/l'fjf(a} >0 and fib) {?\;\
can conclude there is at least
one zero in the interval [ab]
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Intermediate Value ThcorcmD

the fuackion

If a function ictween a and b, then }{ takes on every value
between f{a) and f(b)

i R

i
a

)

Because the function i
between fi{a) and {(b)

must take on every y value

1. Determine if fix) = 3x” + 4x — 4 crosses the x-axis between x = -5 and
x=0.
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